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BUSINESS LAWS — GENERAL
Paper : CC-1.1Chg
Full Marks : 80

Candidates are required to give their answers in their own words

as far as practicable.

ARG STl 5T W |

Rem-=
- G 2Td Ted e | 8xv0
S| o7 wtay rafeefd ww afew g s afes srafosf (rareg witay w7 «g Rgfefb s —
(A) 719 (B) fi=ml
(C) =i 719 (D) snzfee e |
2 G EHIE @RI eife Jeo-eifer ze—
(A) €T 2B (B) &BITAF Gl SIS
(C) eItas Fghe (D) HIHE 7|
ol fon wew gfessfog ez Zmefe 23 v e aifents ata |
(A) Srore (B) T€ul
(C) efime (D) I3 |
8| SIS & Al F& Fei g7, I a1t o7 o8 =% sl
(A) &= (B) @ieipf
(€) (A) 9% (B) (D) (@2 7T |
€| SR GH 20O AT 2SI |
(A) (B) fem
(C) 5= (D) IR 73|
Yl (& (TSfET SNIAT8 FA A |
(A) QTR (B) famf< aife
(C) TS (D) 2|

Please Turn Over



[U(I st Sm.)-Business Laws-G/CC-1.1Chg/CB CS] ( 2 )

Q|

b

&l

Yol

31

R

9|

581

Ty =51 @3l .6 «ff 3%

(A) Sz 7R (B) bfe

(C) <o pfe (D) 3f&G «217 5fe |
oISy e e eitarey g1 —

(A) ©IATe 4G &) @ PR

(B) ©Iated 34a &3 ¢ I 2l
(C) @y =i 74l [fen sty feifore aeyefrs
(D) 7@ »aaid =4l @fe a2g feifere e |

e g ool = —
(A) 2/l T=fTerg M7 (B) #ITe4 WIS (F1F LT
(C) fermitas 2l =gl SaiTed S (D) @oI13a Az A |
a3fs tax @ pfed wiifaard Sotme 21—
(A) g (B) w244 #i¢ly
(C) *Frefa (D) RS0 |
wfvafire skAmIE weE SimE, wRH Gelj SNE A0S A |
(A) FITE (B) =weld
(C) fatetel Axt=a (D) (@G =3 |
Ao S mIE SRR AR G 2T |
(A) Sl ST (B) SEHITE
(C) fair=nsy =itz (D) byl R |
LLPAfpiferosn =@
(A) LLP %fava (B) LLP fesig
(C) LLP f=m™, 2006 (D) LLP <3|
TR FIERTIR FACD 790 AL T —
(A) So0 & (B) o &«

(C) So G (D) 20 &



pleq

ol

4l

ol

|

Ro|

bl

R

( 3 ) (U(I st Sm.)-Business Laws-G/CC-1.1Chg/CB CS]

LLP-93 ‘SPifadl’ 23—

(A) TS SAWIF LTI=HITE (B) A&IFe Ges T AGeAed Seitd
(C) FDI fT@ws s0o17 fae (D) << |
ffEfee @G LLP srafeeitaa Ssimie =2

(A) LLP-43 =¥ (B) faazdtela

(C) 7S AT T 2© (D) eREifas F=aid |
(I wferaiis sRrEaralen ufere 2aa fArafee s 12

(A) Gelfz e (B) Tiwia afm

©) &= (D) @& |
qififen< efeq scet orem NI w39, 1881-99 Y41 |

(A) 4 B) 5

©) 6 (D) 7

HIAT (ol 216 SfEIa 37 STz |

(%ol T A, 2019-97

(A) 28) (B) 209
(€) 2(10) (D) 2(6)
-4 BA (o S efefre z2re #ita |
(A) o Jpaefe (B) (%R HTHIT
(C) ey aala (D) =R |
frersr-2
(F-(ICA PO 2T Oed i€ | %30
@35 srfe 49 pfe &3 oum ¢ff tofa sta—
(A) o= wr (B) “ifes w
(C) wrigeore w3 (D) =<f |

TSI I AREAD RO T 5,000 91 T 8,000 T Ker T40e e 74 | O3 e 26
b @IiEma (srar) |

(A) 734, 10 4209 (B) aifesrast, 39 g
(C) 4ifest, 29 g (D) @ife zFa, 30 41419 |

SEISES

Please Turn Over



[U(I st Sm.)-Business Laws-G/CC-1.1Chg/CB CS] ( 4 )

ol

81

@l

Y|

Q|

b

ol

Yol

331

2@l AN FTHTE qe T —
(A) dfesse (B) &
(©) Zigfe (D) 2@
e fefere pfe e zre AE—
(A) foeot pfe (B) fadiess pfe
(C) I ooy @ s e (D) << |
FFlea 437 2@ #AT—
(A) = (B) frlie
(C) =ilbgel =l (D) 2= |
gia1 e, eifeffd 518 e & -7 AT (2|
(A) 175, 7% (B) 185, gfewr
(C) 165, &% (D) @52 7
“fn effenita e &1 w17 @2 e wfeds 79 @i
(A) RE-SIFERPIE (AT (B) F=elifre 7w (AT
(C) effeffay (D) (@R 7T |
2/fSxFfS ffeTrea S 9 ol AT e B siftee AN T OTE e = |
(A) =5, 955 (B) foz, qifies
(C) w3y, #faraal (D) #ifare=, aifes |
wHosfge qaad Sfgraef aw—
(A) IETIfEEs e (B) I¥&TE 24n
(C) (A) 932 (B) (D) @52 7
e fefere piea fastemsm zre it A |
(A) iz, Al (B) 259, &
(C) 734,517 (D) I7a4, 23|
fafos s, -(© efenitaa wiewl oredt Erafes —
“forg wIfEpIa, 1<, I A GGG ofeat 277
(A) Currie vs. Misa (B) Pollock vs. Misa

(C) Cox vs. Hickman (D) @2 77|



R

9|

581

sl

Y|

4l

ol

|

( 5 ) (U(I st Sm.)-Business Laws-G/CC-1.1Chg/CB CS]

Aoy wrefretq fafe zs1—

(A) T € oW (B) (&SIT7d So(Te13 Gy SITAWe] FATS Z(A
(C) 5fe-5G T <45 (D) @< |

(a4 G wafs ToAme 2s—

(A) il 28%a (B) 2T 7]

(C) = (D) 2= |

e cvta @l wre =< au—

(A) Rt e (B) wAIES #E

(C) wITmeId (AT & *[S (D) @9/91® IS |

Sy “Srofe qECS (AN, 2o g =g, 1930 S —

(A) &S (B) Ao
(C) rwfes (D) 2= |
93 TS, ST o FfEare wted Trare 12 e =+iF Tl 432 e b 991 ifeTE @re
TS & |
(A) QI (B) (AT
(C) fstza (D) SIS |

wfR, GG SFMIF, ©IF 78 FIT AN GeJ 2 W 56 | A fifalfis 2ot gtz 40% fars
R Z& GRS 20 (7 A I3 AL, T 2 | ATH(G 2/ 2z —

(A) S&AMIS (B) dfeffa

(C) @ Ao (D) (@IGNHE 77|

(T AW T4 Sl JAIFF S S (& GG 2887 F(F 04 €2 G 06—
(A) TG S (B) ©of-wiHarg

(C) e sriwrg (D) T2 73 |

It 52 SRAMIF wefer 2 TR s aft—

(A) Ffe =izl e (B) FISRETs [Atan#Rige

(C) Alzifas e Sl fRraapa (D) IAIDE 73 |

Please Turn Over



(w25t Sm.)-Business Laws-G/CC-1.1Chg/CBCS ) (6)
Yo weAwifag Wholteld e S A (3 IR B =¥ —
(A) Mollow March & Co. vs. The Court of Wards
(B) Nash vs. Inman

(C) Garner vs. Murray
(D) A K Das vs. CIT.

1 Fifire wafafE semfE eamfrre Afmfes . g@n
(A) @rfifeg o (B) Cost Accountant
(C) rofife] frazs (D) Chartered Accountant.
23| EAMIEA '0E LLP-3 effeffa g omy sidimiras affeffs o, anan sateme 41319, LLP I3 |
(A) 25 (B) 26
©) 27 (D) 28

20| TGN weTe Sz 1881, ST “oprwer -9 sl —
(A) 97 & (AT 9 VG F2 ZIEIEN wlere 22ET T4
(B) &l g famst
(C) T wfertera Sfaapla 2B 202l

(D) 5 |
381 TIEITIN WieTel (FIHIE qa7 T 2
(A) ofE ¢ & (B) #oidelg @ of
(C) gojd7lg ¢<) (B (D) = |
€| ZTIFIEN WEER 2frae 90 G LT |
(A) Flfeermae (B) @i
(O) (A) @3 (B) (D) Iz 77|
| GF LT T 2T 6 A T4 2C Q2T R AT TORA IS =7 |
(A) ¥ (B) wZMH

(C) m=iwl (D) i |



41

W |

W

90 |

(7) [U(lst Sm.)-Business Laws-G/CC-I.IChg/CBCS]

(GO A SR, 2019 A IR WSl it 909 A |
(A) af& (B) @mfd
(C) wife (D) FER |
(@ET A @ o7
(A) arEy (B) Toirm wiTeia Gy i@
(C) wffea (D) (PICTIE 73 |
(T S T, 2019-G7 ‘Ao WG Ww{b T& BAE |
(A) Gferas (B) <
(C) 2-=5Ipf (D) =zl |
(T ] 2, 201 9-QF NI -7 4iFel) 23T 210z | 17 I 29 (FOIH T T, oIS F
¢ TfgIg FafFe w4 |
(A) (@aly 3w (B) ey e
(C) (FHI (GO FT= TG7F (D) e i |
[ English Version ]
The figures in the margin indicate full marks.
Group - A
Answer any ten questions. 2x10

. “All illegal agreements are void but all void agreements are not necessarily illegal” the statement is—

(A) True (B) False
(C) Partly true (D) Partly false.

. A price list displayed in a stationery shop amounts to

(A) an offer (B) an invitation to offer

(C) acceptance of an offer (D) None of these.

Consideration which move simultaneously with the promise is called _____ consideration.
(A) past (B) present

(C) future (D) illegal

Consent is said to be free when it is not caused by—

(A) Mistake (B) Fraud

(C) (A) and (B) (D) None of these.
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5.

10.

11.

12.

13.

Mistake of law can be of ___ types.
(A) two (B) three
(C) four (D) none.

cannot be adjudged insolvent.

(A) Adult (B) Alien
(C) Minor (D) All of them.
. A quasi-contractisa ____ and it is valid.
(A) legal obligation (B) contract
(C) contingent agreement (D) wagering agreement.

. The Indian Contract Act applies to the—

(A) Whole of India including Jammu and Kashmir
(B) Whole of India excluding Jammu and Kashmir
(C) States notified by the central government from time to time

(D) States notified by the appropriate Government every year.

Auction sale is completed—

(A) by delivering goods

(B) by paying the value of goods

(C) By the sound of hammer of the auctioneer
(D) All of the above are correct.

Essential element for a valid contract of sale—

(A) Property (B) Movable goods

(C) Parties (D) All of these.

A partner of an unregistered firm can sue for __ of the firm.

(A) Reputation (B) Power

(C) Dissolution (D) None of these.

The principle of ___ is applicable to partners in a partnership business.
(A) Utmost Goodfaith (B) Blind faith

(C) Insurable interest (D) Ultimate trust.

LLP is managed as per—
(A) LLP Deed (B) LLP Agreement
(C) LLP Rules, 2006 (D) LLP Book.
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20.
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Highest number of members in a Partnership business is—

(A) 100 Persons (B) 50 Persons

(C) 10 Persons (D) 20 Persons.

‘Disadvantage’ of LLP will be—

(A) Admission of new partner (B) Lack of awarness among general public
(C) Stringent rules of FDI (D) All of these.

Which of the following is not a content of LLP agreement?

(A) Name of LLP (B) Prospectus

(C) Profit sharing ratio (D) Projected business.

Which of these instruments are not considered as a Negotiable Instrument?

(A) Treasury Bill (B) Money receipt
(C) Cheque (D) All of these.
The definition of Bill of Exchange has been given in the section ____ of NI Act., 1881.
(A) 4 (B) 5
() o6 (D) 7.
The Consumer Protection Act., 2019 provides six rights to the consumers as per section—
(A) 2(8) B) 209
(C) 2(10) (D) 2(6).
District Commission can be established by the—
(A) District Judge (B) Central Government
(C) State Government (D) All of these.

Group - B

Answer any twenty questions. 3x%20

. An agreement is a contract if it creates—

(A) Moral obligation (B) Social obligation

(C) Legal obligation (D) All of these.

Avik agrees to sell his cycle to Amit for ¥ 5,000 or X 8,000. This agreementis __ under
of the Indian Contract Act., 1872.

(A) Valid, Section 10 (B) Voidable, Section 39

(C) Void, Section 29 (D) Wager, Section 30.
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3.

10.

11.

12.

. According to Section

An agreement enforceable by law is known as

(A) Promise
(C) Acceptance

(A) Executed Contract

(B) Contract
(D) Proposal.

. According to performance, the contracts may be

(B) Executory Contract

(C) Partly executed and Partly executory (D) All of these.

. Mode of Acceptance—

(A) Verbal
(C) By conduct

(B) Writing
(D) All of the above.

no is necessary to create an agency.

(A) 175, consent
(C) 165, offer

(B) 185, consideration
(D) None.

. Which of the following is not an exception to the rule “No consideration, No contract”?

(A) Out of natural love and affection (B) Completed gift

(C) Agency

. The bailment of

(A) goods, pledge

(C) product, services

(A) Damages in suit
(C) (A) and (B)

Termination of contract by
(A) Mutual, Five
(C) Valid, Four

In the English case,
party”.

(A) Currie vs. Misa
(C) Cox vs. Hickman

Rules regarding delivery—
(A) Delivery and payment
(C) Expenses of delivery

(D) None of these.

as security for payment of a Debt or performance of promise is called

(B) rule, void

(D) services, void.

. Rights of Indemnity Holder—

(B) Costs of suit
(D) None of these.

Agreement canbe of ___ types.
(B) Original, Six
(D) Illegal, Six.

, consideration was defined as “some right, interest, profit accruing to one
(B) Pollock vs. Misa

(D) None of these.

(B) Buyer to apply for delivery
(D) All of the above.
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Essential element for a valid instalment sale—
(A) Transfer (B) Movable goods
(C) Parties (D) All of these.

Which of the following is not an implied condition in a contract of sale?
(A) Condition as to title

(B) Condition as to sample

(C) Condition must be free from encumbrance

(D) Condition as to a quality.

‘Delivery’ of goods in the Sale of Goods Act, 1930 can be—

(A) Actual (B) Constructive

(C) Symbolic (D) All of these.

Accordingto | Partnership is the relation between persons who agree to carry on a business in
common with a view to private gain.

(A) Haney (B) Pollock

(C) Kimball (D) Salmond.

Agni, a contractor, appointed Paban to manage his entire work. It was agreed that Paban would receive
40% of the profits as his remuneration and would bear all the losses, if any. Here, Paban is—

(A) Partner (B) Agent
(C) Sole Proprietor (D) None of these.

When a partner of business transfers his share of profit to another person, then it is called—
(A) Nominal partner (B) Sub partner
(C) Inactive partner (D) None of these.

If all the partners are insolvent then it is
(A) Dissolution of an agreement (B) Compulsory dissolution of firm

(C) Dissolution of mutual agreement (D) None of these.

The true test of partnership is validated in the case of—
(A) Mollow March & Co. vs. the Court of Wards

(B) Nash vs. Inman

(C) Garner vs. Murray

(D) A K Das vs. CIT.

Limited Liability partnership administrated by—
(A) Company Secretary (B) Cost Accountant
(C) Registrar of Companies (D) Chartered Accountant.
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22.

23.

24.

25.

26.

27.

28.

29.

30.

Partners are agents of LLP but not the agents of other partners, explained in section __ of LLP
Act.

(A) 25 (B) 26
©) 27 (D) 28.

In Negotiable Instrument Act., 1881 ‘Endorsement’ means—

(A) transfer of a negotiable instrument from one person to another
(B) It’s an order to pay

(C) the intention to transfering the rights on any instrument

(D) All of the above.

Which of the following is negotiable instrument?
(A) Bill of exchange and Cheque (B) Promissory note and Bill of exchange
(C) Promissory note and Cheque (D) All of these.

A Negotiable instrument is discharged by—

(A) Cancellation (B) Release

(C) (A) and (B) (D) None of these.

A Bill is called Fictitious Bill whenthe __ of the drawer or the payee or both are fictitious.

(A) name (B) position

(C) designation (D) role.

The ____ cannot lodge a complaint under the Consumer Protection Act., 2019.

(A) Person (B) Corporate

(C) Trust (D) Al

The Central Council shallbethe — Council.

(A) State (B) Advisory

(C) Non-statutory (D) None of these.

The word ___ has been included in the definition of ‘Goods’ as per Consumer Protection
Act., 2019.

(A) Telecom (B) Food

(C) e-commerce (D) Hospital.

The Consumer Protection Act., 2019 has introduced the concept of ____ | which will protect, promote

and enforce the rights of consumers.
(A) Central Commission (B) State Commission

(C) Central Consumer Protection Authority (D) District Commission.



